I. MULTIPLE CHOICE PART (WORTH 30 POINTS).
You try all questions. Each question is worth 2 points. In the template below write down the letter corresponding to the correct answer for each question.
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Q-4: The solution of the inequality 
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Q-5: The number of the real solutions of the quadratic equation 
[image: image20.wmf]0

1

2

2

=

+

+

x

x

 is:

	(a) 
[image: image21.wmf]0


	(b) 
[image: image22.wmf]1


	(c) 
[image: image23.wmf]2


	(d) 
[image: image24.wmf]3


	(e) none


Q-6: The Center 
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Q-7: The value of 
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Q-8: The domain of the function 
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Q-9: The unit vector u in the direction of the vector v = (5,-12) is :
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Q-10: In a triangle ABC if 
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Q-11: The solution of the equation 
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Q-12: The set of the roots of the quadratic equation 
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Q-13: Let 
[image: image63.wmf]3

)

(

2

+

=

x

x

f

 and 
[image: image64.wmf]x

x

g

5

)

(

=

, then 
[image: image65.wmf](

)

=

)

2

(

g

f

o

…………..
	(a) 35
	(b) 17
	(c) 112
	(d) 103
	(e) none


Q-14: The value of the determinant 
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Q-15: The factorization of 
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II. ESSAY QUESTIONS PART (WORTH 20 POINTS).

You try all questions. Each question is worth 4 points. Please show the details of your work and not just the final answer. Write down your answers neatly .

Q-1: Evaluate:
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Q-2: Solve the inequality 
[image: image73.wmf]8

6

2

<

-

x

.
……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..
…………..……………………………………………………………………………..……………………………………………………………………………..………………………………………………………………………………………………………..

…………..……………………………………………………………………………..……………………………………………………………………………..………………………………………………………………………………………………………..
Q-3: Consider the two points 
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a)Find the distance 
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a) Find the dot product (scalar product) 
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b) Find the measure of the smallest angle 
[image: image84.wmf]q

 between the two vectors 
[image: image85.wmf]u

and 
[image: image86.wmf]v

. 

……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..……………………………………………………………………………..………………………………………………………………………………………….

…………..……………………………………………………………………………..……………………………………………………………………………..………………………………………………………………………………………………………..

………………………………………………………………………………………….

Q-5: Solve the system of linear equations: 
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1- Find the domain of the following function
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2- Solve 
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3- Solve 
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Q1- Find the standard form of the equation of the circle that has center C(-4,-2) and contains the point P(-1,2)?
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Q3- Use composition of function to show that 
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Q1- Find the solution of the following linear system  
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Q2 – Consider the system of linear equations 
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Show that this system has only one solution, or many solutions , or no solution.
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Choose the correct answer and fill your answer in the table
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1. The distance 
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2.  The mid point of the line segment connecting the points whose coordinates are 
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3. The center of the circle in the standard form 
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4. By long division the dividing of the polynomial 
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5. Consider the functions 
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6. Consider the exponential function 
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7. The domain of the logarithmic function 
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8. The solution of the equation 
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	a. x=4.58
	b. x=6.58

	c. x=2.58
	d. x=8.58
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9. The solution of the equation 
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	a. 6
	b. 9

	c. 10
	d. 8


------------------------------------------------------------------------------------------------------------
10. Given triangle ABC with B=600, a=30 centimeters, and c=30 centimeters, then A  is :

	a. A=1200
	b. A=200

	c. A=300
	d. A=600


------------------------------------------------------------------------------------------------------------
11. The area of triangle (K) with a=5.0 meters, b=13 meters, and c=12 meters K is :

	a. 28
	b. 30

	c. 32
	d. 34


------------------------------------------------------------------------------------------------------------
End of Exam

With best wishes
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